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Figure N1.

Utility Score for Ride Score of 3.3.
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Figure N2. Utility Score for Ride Score of 3.2.
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Figure N3. Utility Score for Ride Score of 3.1.
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Figure N4. Utility Score for Ride Score of 3.0.
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Figure N5. Utility Score for Ride Score of 2.9.
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Figure N6. Utility Score for Ride Score of 2.8.
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Figure N7. Utility Score for Ride Score of 2.7.
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Figure N8. Utility Score for Ride Score of 2.6.

Ride Utility Factor

1.0

0.9

0.8 -

®25
A Current 2.5

Ride Utility = 3.3(Speed x AADT*0.5)"-0.19233

0.7

o.e——m—ﬁ—tﬂ—fﬁ 33 § 44 3 3 7\

0.5

0.4

0.3

0.2

0.1

0.0

500000 1000000 1500000 2000000 2500000

Speed x AADT

Figure N9. Utility Score for Ride Score of 2.5.
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Figure N10. Utility Score for Ride Score of 2.4.
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Figure N11. Utility Score for Ride Score of 2.3.
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Figure N12. Utility Score for Ride Score of 2.2.
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Figure N13. Utility Score for Ride Score of 2.1.
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Figure N14. Utility Score for Ride Score of 2.0.
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Figure N15. Utility Score for Ride Score of 1.9.
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Figure N16. Utility Score for Ride Score of 1.8.
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Figure N17. Utility Score for Ride Score of 1.7.

N-9




Ride Utility Factor

1.0

0.9

0.8

0.7

0.6

0.5

0.4 -

0.3 -

0.2

0.1

0.0

®16
A Current 1.6

Ride Utility = 16(Speed x AADTA0.5)7-0.49867

YV Y ey Y S Y WY 3§ 2

0 500000 1000000 1500000 2000000 2500000

Speed x AADT

Figure N18. Utility Score for Ride Score of 1.6.
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Figure N19. Utility Score for Ride Score of 1.5.
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Figure N20. Utility Score for Ride Score of 1.4.
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Figure N21. Utility Score for Ride Score of 1.3.
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Figure N22. Utility Score for Ride Score of 1.2.
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Figure N23. Utility Score for Ride Score of 1.1.
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Figure N24. Utility Score for Ride Score of 1.0.
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Figure N25. Utility Score for Ride Score of 0.9.
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Figure N26. Utility Score for Ride Score of 0.8.
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Figure N27. Utility Score for Ride Score of 0.7.
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Figure N28. Utility Score for Ride Score of 0.6.
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Figure N29. Utility Score for Ride Score of 0.5.
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Figure N30. Utility Score for Ride Score of 0.4.
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Figure N31. Utility Score for Ride Score of 0.3.
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Figure N32. Utility Score for Ride Score of 0.2.
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Figure N33. Utility Score for Ride Score of 0.1.
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